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ECONOMICS
Mathematics for Economics
(NEP Scheme 2020-21 Freshers)
Paper : DSC 3.2.1

Time : 2% Hours Maximum Marks : 60

Instructions to Candidates:

1)
2)
3)

Answers should be written completely either in Kannada or English.
Answers of Part-A shall be continuous.
Answers should be precise.

PART-A
(Objective Type)

Answer any 10 of the following in one sentence. Each question carries 1 mark.
3YAS cdRx)TomTRe 10 @alﬁ@ri 2,000 mﬁédc’gﬁ LVBOR. H)S @'%ﬂm 1 e03. (10x1=10)

1. a)

b)

c)

d)

g)

What is mathematical Economics ?
neszs @m-abg Q0BT 2

Define a parameter.

DODTOOTNTRY, T, 8T DA

What are Prime numbers ?

S, Roas,nso Q0BT ?

Define zero matrix.

2T, BT R WA,

If y=10x%, find dy/dx

y=10x8, tﬁﬂcgﬁ, dy/dx e:%igl FORBIHROD.
Give the formula for price elasticity of demand.
B¢ Fetd RIWTFIH AT,TIY w0,
What are integers ?

TPTBFOBND 0TTERD 2

[P.T.O.
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h)

1)

1

K)

1)

m)

Write the formula tor average Revenuc.

TITATO EIedT XF, B[, LB,

What is a vector ?

IS eTTeDd 7

When y=f(x), state the necessary and sufficient conditions for minimum value
of y.

y=flx) swon, y 3 nog PYT 3emoNToE ¥ne, YY) 93757135 P&éﬂ@@l 392,
If total revenue, R = 200q-10q? and g=5, Calculate MR.

2D wmod R = 200g-10¢7 I SWII w33 4=5 e5TRM, ACBROZ STCDTT)
FOROLHLAIOND.

Solve x3-16x+48=0 using quadratic formula.

JAFRRS, Wb x*-16x+48=0 &Y, WERA.

Find the value of 2x2 determinant

2 4
|4]=

4 6
S TYNT 2x2 IR B APF 08 FOrRIGBOWD.
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PART-B

Answer any six of the following. Each question carries 5 marks. (5%6=30)
TINT ceYmTTR 6 T[INIR WWBOR. T8 BIR 5 0ENd.
2. If P=100-4q stands for the demand law and g=5, Calculate the marginal Revenue

(MR)

P=100-4q 2388 d03e0m0NT)) 0B =5 &TN, [WOOE A0 ST FORIEGROWO.
3. Explain the role of mathematics in economic theory.
SOFE ATROBTY, NedZT o3,wmY QBOR.

If u=f(x) and v=g(x), then prove that
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, find AxB matrix

2 3 4
=[3 1 6] % B=|? 4| enmr, AxB Snggcnny FomskRcmd,
33 ° I

. s . ul
Define 7, the price elasticity of demand and prove that MR = AR['“;J

. 1
Yo teBFod ASTHTHI N B 29,a59,Q% =B MR = AR[F;] ROWOTR), FORA.

Given the cost function, C=x>-3x*+15x+27 Find the TFC, TVC, AFC, AVC AND MC
by, g, C=x>-3x*+15x+27 SATRR, Wiy 3T 3, (TFC), wtd), wieerds @i, (TVO),
RO9R0 AT &, (AFC), Booxd wrioenyss 3, (AVC) morie aesm»od Fi, (MC) oy
FOR&RBOWD.
IfA= {1, 2, 3,4} and B = {2, 3, 4, 5, 6} find AnB and also represent it using a
Venn diagram.
A=1{l,2,3,4) R B = {2, 3, 4,5, 6} snNwn, ANB &I, 50R&ROW0. BWIY
F3* 233,T FRT T,3R0R.
Find the maximum and minimum of the following function y=x>+5x>+8x+5
owd y=x>+5x*+8x+5 & Now WD) FIHTI) ToRWARCWD.

PART-C
Answer any 2 of the following. Each question carries 10 marks. (2x10=20)
3INS oIRPYTCR 2 JINPR LB0A. T2 TINR 10 03N,
What is a variable ? Explain the different types of variable.

BB Q0BT 7 ADG 030D WOTNTI WOA.

If D=100-5p and S = 150-10p are the demand and supply functions, calculate the
equilibrium price and quantity. Further, when a specific tax of Rs.2 per unit is levied,

Calculate the new equilibrium values.
D=100-5p =3 S = 150-10p =3 0B, TmN WeRT =B TpTYFoH WorERTON3.
T3pews B wH3) HUSFREY FomdkR00Dd. Tr. 2 o=, OFE, o) dRATR,
BR% B BB GoSFZIY F0ROEHRBOWD.

[P.T.O.
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Solve by using Cramer’s rule

3x + 2y + 4z =19

6x + 2y + z = 37

X+ 2y+ 3z=10

B,6300¢ QOTTIY WH BTI), WX
3x + 2y + 4z = 19

6x + 2y + z = 37

X+ 2y +3z=10
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